106240Q-20

106240-22 ?
106240-23 —__ —— 10624Q-19
106240-21 ——

10624Q-7

/10624017

. ®
106280-18 ® - 10624Q-6
106240-36 e
1 1062402 So¥ :
g,i-——é’;fxﬁ >0
21178
10624Q-1
i
10624Q-33
Replacement Parts List
Item # Description Item # Description
10624Q-1 Rail Supports 10624Q-20 Knob
10624Q-2 Bolt 10624Q-21 Angle Guide
10624Q-6 Breaker Bar 10624Q-22 Knob
10624Q-7 Nut 10624Q-23 Washer
106240-17 Angle Guide Lever 10624Q-33 Left Extension
106240-18 Bolt 10624Q-36 Right Extension
106240-19 Washer 21178 7/8" Titanium Coated Scoring Wheel

Professional Tools for Professional Results gep.com




10636Q-20

10624Q-22 —
106240-23 —__
106240-21
/ Al )
10624Q-17 = P 106240Q-7
108460-10 1) 106240-6
106240-36 i
i , 106240-2 SV /
10624Q-1
i
10624Q-33

Replacement Parts List

Item # Description Item # Description

10624Q-1 Rail Supports 10636Q-20 Knob

10624Q-2 Bolt 10624Q-21 Angle Guide

10624Q-6 Breaker Bar 10624Q-22 Knob

10624Q-7 Nut 10624Q-23 Washer

106240-17 Angle Guide Lever 10624Q-33 Left Extension

106360-18 Bolt 10624Q-36 Right Extension
106360Q-19 Washer 21178 7/8" Titanium Coated Scoring Wheel

Professional Tools for Professional Results gep.com




Replacement Parts List

Item # Description Item # Description

10521Q-1 M6 x 14mm screw 21178 7/8" Titanium Coated Scoring Wheel
10521Q-2 Frame cover 10521Q-11 Blade Holder

10521Q-3 Limit Stop Collar 10521Q-12 M6 x 35mm Screw

105210-4 Knob 10521Q-13 M6 Nut

105210Q-5 Guide Bar 10521Q-14 Breaker Bar

10521Q-6 Gauge 10521Q-15 M6 x 14.5mm Screw

10521Q-7 M6 Nut 10521Q-16 Handle

105210Q-8 Sliding Carriage 10521Q-17 Base

105210-9 M5 x 17 Screw 10521Q-18 Anti-slip Rubber



Replacement Parts List

ltem # Description

105210-19 EVA Pad
10521Q-20 Fence

10521Q-21 M6 x 12mm Screw
10521Q-22 M6 Nut

Professional Tools for Professional Results gep.com




	QEP_Slimline-Tile-Cutters_10624Q-10632Q_Replacement Parts List (1)
	QEP_Slimline-Tile-Cutter_10636Q_Replacement Parts List
	QEP_21in Pro Tile Saw_10521Q_Replacement-Parts-List_ENG

